CULTY s
g4 1 345 e
58 x % = 34.8 74 x % = 14.8

62 X % = 49.6 6 x % = 3.6

100 x % = 60 87 % % = 52.2

28 x % =112 32 x % =224

19 x % = 13.3 71 % % =42.6

6 x % = 4.8 9 x % =127

66 X % =13.2 39 x % =3.9

75 % % =15 52 x % =20.8

82 X % = 65.6 58 x % =11.6

30 x % =15 2 X %=14
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58 x 60% = 34.8

62 x 80% = 49.6

100 x 60% = 60

28 x40% = 11.2

19 x70% = 13.3

6 x 80% = 4.8

66 x 20% = 13.2

75 x20% = 15

82 x 80% = 65.6

30 x 50% = 15

H -

74 x 20% = 14.8

6 x 60% = 3.6

87 x 60% = 52.2

32 x70% =22.4

71 x 60% = 42.6

9 x30% = 2.7

39 x 10% = 3.9

52 x40% = 20.8

58 x20% = 11.6

2x70%=1.4
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